SCOTT POLLOCK T 613.787.3541 spollock@blg.com
 Borden
 Ladner Gervais
 LLP

 World
 Exchange
 Plaza

 100
 Queen
 St, Suite
 1300

 Ottawa, ON, Canada
 K1P
 1J9
 T
 613.237.5160

 F
 613.230.8842
 blg.com
 F
 613.230.8842



By electronic filing

June 13, 2025

Ritchie Murray Acting Registrar Ontario Energy Board 2300 Yonge Street, 27th floor Toronto, ON M4P 1E4

Dear Mr. Murray

Re: Enbridge Gas Inc. ("EGI") EGI 2024 Rebasing Application – Phase 2 – EB-2024-0111 Cost Claim

As you know, we are counsel to Canadian Manufacturers & Exporters ("**CME**"). Please find attached CME's cost claim in the above-noted matter for \$47,229.03.

We note that the Board's online filing portal rounded the HST on Borden Ladner Gervais LLP's ("**BLG**") fees to the nearest 5 cents, for a total HST amount of \$5,433.45 and a total cost claim of \$47,229.05. However, BLG's internal accounting software rounds to the nearest cent, for a total of \$5,433.43. Accordingly, there is a \$0.02 discrepancy in the totals. To the extent that the Board determines that it is appropriate for CME to receive a full cost award, we ask to be awarded the lower amount of \$47,229.03 as set out in the Invoice attached with CME's cost claim.

Yours very truly,

Borden Ladner Gervais LLP

SA Pul

Scott Pollock SP/wb

EB-2024-0111 : 1 : Scott Pollock

COST CLAIM NUMBER 2775	SUBMISSION DEADLINE DATE June 13, 2025	CLAIM STATUS Approved by Finance
EB# EB-2024-0111: Rates: Distribution: Enbridge Gas Inc.	OTHER EB#S	PHASE #* 1
INTERVENOR Pollock, Scott ; +1 (613) 787-3541 spollock@blg.com	INTERVENOR COMPANY* Canadian Manufacturers & Exporters, Toronto: Corporation	INTERVENOR TYPE Full Registrant
HST RATE ONTARIO 13.00	EXCHANGE RATE	COUNTRY Canada
HST NUMBER 10807 5482 RT0001	LATE SUBMISSION ALLOWED	EXTENSION DEADLINE DATE

PARTICIPANTS

<u>PART</u>	<u>CIPANTS</u>		Total (\$)	Total	Participant Claim
New	Non-Filing Participant First, Last Name	Filing Participant		Hours	Status
No	,	Pollock, Scott ; +1 (613) 787-3541 spollock@blg.com	47,229.05	165.20	Submitted

ATTACHMENTS

Attachment	Document Type	Import Message
2025-06-13 Letter to OEB - EB-2024-0111.pdf	Cover Letter	
2025-06-13 BLG Inv 698550629 EB02024-0111.pdf	Invoice	
EB-2024-0111 Docket.pdf	Time Docket	
CME EB-2024-0111 Cost Claim 061320251539.pdf		

Report Name: CC_Cost_Claim_Header.rpt Last Update 20230214 -

TOTAL CLAIM 47,229.05

TOTAL HOURS CLAIMED 165.20

REASON FOR DISALLOWANCE

MAKE CHEQUE PAYABLE TO Borden Ladner Gervais LLP

SEND PAYMENT TO ADDRESS Borden Ladner Gervais LLP 100 Queen St., Suite 1300 Ottawa, ON K1P 1J9

Ottawa, ON K1P 1J9 SUBMIT SECTION

I am a representative of the Party. I have examined all of the documentation in support of this cost claim. The costs incurred and time spent are directly related to the Party's participation in the OEB Process referred to above.

This cost claim does not include any costs for work done, or time spent, by a person that is an employee or officer of the Party as described in section 6.05 and 6.09 of the OEB's Practice Direction on Cost Awards.

The information (fees and disbursements) filed in this cost claim is complete and accurate and in accordance with the OEB's Practice Direction for Cost Awards and Appendix A, the Cost Awards Tariff.

SUBMITTED BY Scott Pollock DATE SUBMITTED June 13, 2025

TOTAL AMOUNT AWARDED

TOTAL DISBURSEMENTS

0.00

TOTAL HOURS DISALLOWED

REASON FOR DISALLOWANCE - 2 REASON FOR DISALLOWANCE - 3

ATTENTION

Scott Pollock

TOTAL HST 5,433.45

Scott Pollock

CASE EB-2024-0111: Rates: Distribution: Enbridge Gas Inc.	COST CLAIM EB-2024-0111 : 1 : Scott Pollock	INTERVENOR NAME Pollock, Scott ; +1 (613) 787-3541 spollock@blg.com	PARTICIPANT CLAIM STATUS Submitted
FILING PARTICIPANT Pollock, Scott ; +1 (613) 787-3541 spollock@blg.com	NEW PARTICIPANT No	NON-FILING PARTICIPANT F. NAME	NON-FILING PARTICIPANT L. NAME
SERVICE PROVIDER TYPE* Legal Counsel	YEAR CALLED TO BAR* 2016	COMPLETED YEARS PRACTICING/YEARS OF RELEVANT EXPERIENCE* 6	HOURLY RATE 253
HST RATE CHARGED* 13.00	CV STATUS (FOR CONSULTANT/ANALYST) CV Required	LAST CV DATE	OVERRIDE HOURLY RATE No
HST NUMBER	HEARINGS	CONSULTATIONS	DISBURSEMENTS

No

No

HEARINGS

10807 5482 RT0001

Yes

Hearings Hours 165.20		Hearings Subtotal (\$) 41,795.60		Hearings Total 5,433.45	Hearings Total Tax (\$) 5,433.45		Hearings Total (\$) 47,229.05	
	Name	Hours	Hourly Rate	<u>Sub Total</u>	<u>HST</u> Rate	<u>HST</u>	<u>Total</u>	
DISC	OVERY							
	Read and Research Application a Evidence	and 21.40	253	5,414.20	13.00	703.85	6,118.05	
	Preparation of Interrogatories	14.20	253	3,592.60	13.00	467.04	4,059.64	
	Review Interrogatory Responses	2.50	253	632.50	13.00	82.23	714.73	
	Technical Conference Preparatio	n 1.30	253	328.90	13.00	42.76	371.66	
	Technical Conference Attendance	e 24.80	253	6,274.40	13.00	815.67	7,090.07	
	Technical Conference Follow-up		253		13.00			
	Subtotal of DISCOVERY	64.20		16,242.60		2,111.55	18,354.15	
PRO	CEDURAL							
	Preparation of Issues List Submis	ssion	253		13.00			
	Attendance at Issues List Conference	ence	253		13.00			
	Preparation for a Confidentiality F	Request	253		13.00			
	Prepare Submissions on Confide	ntiality	253		13.00			
	Preparation of Motion(s) Material	S	253		13.00			
	Prepare Submissions on the Mot	ion(s)	253		13.00			
	Attendance at Hearing on Motion	(s) 6.20	253	1,568.60	13.00	203.92	1,772.52	
	Review Procedural Documents		253		13.00			

CC_Participant_Combined.rpt - last Update 20230601

	<u>Name</u>	<u>Hours</u> <u>Hourly</u> <u>Rate</u>		<u>Sub Total</u>	<u>Sub Total</u> <u>HST</u> <u>Rate</u>		<u>Total</u>
	Subtotal of PROCEDURAL	6.20		1,568.60		203.92	1,772.52
INTE	RVENOR EVIDENCE Preparation of Intervenor Evidence		253		13.00		
	Interrogatory Responses		253		13.00		
	Preparation of Witness(es) for Attendance at Hearing Subtotal of INTERVENOR EVIDENCE	0.00	253	0.00	13.00	0.00	0.00
eett		0.00		0.00		0.00	0.00
SEII	Preparation for Settlement Conference	3.90	253	986.70	13.00	128.27	1,114.97
	Attendance at Settlement Conference	49.20	253	12,447.60	13.00	1,618.19	14,065.79
	Preparation of Settlement Proposal	1.20	253	303.60	13.00	39.47	343.07
	Attendance at Presentation to Panel		253		13.00		
	Subtotal of SETTLEMENT CONFERENCE	54.30		13,737.90		1,785.93	15,523.83
WRIT	TEN ARGUMENT Written Submissions	21.00	253	5,313.00	13.00	690.69	6,003.69
	Subtotal of WRITTEN ARGUMENT	21.00		5,313.00		690.69	6,003.69
ORAL	ARGUMENT	0.40	050	05.00	40.00	0.00	00.50
	Preparation for Oral Hearing	0.10	253	25.30	13.00	3.29	28.59
	Attendance at Oral Hearing	19.00	253	4,807.00	13.00	624.91	5,431.91
	Oral Submissions		253		13.00		
	Attendance at Oral Submissions		253		13.00		
	Subtotal of ORAL ARGUMENT	19.10		4,832.30		628.20	5,460.50
DECI	SION Review Decision	0.40	253	101.20	13.00	13.16	114.36
	Review Rate/Accounting Order		253		13.00		
	Prepare Submission on Rate Order		253		13.00		
	Subtotal of DECISION	0.40		101.20		13.16	114.36
OTHE	R Other Attendance (e.g., Intervenor Conferences)		253		13.00		
	Subtotal of OTHER	0.00		0.00		0.00	0.00
ΤΟΤΑ	L SERVICE PROVIDER FEES Total Service Provider Fees	165.20		41,795.60		5,433.45	47,229.05

Attachments

Attachment EB-2024-0111 Docket.pdf 2025-06-13 BLG Inv 698550629 EB02024-0111.pdf 2025-06-13 Letter to OEB -EB-2024-0111.pdf Document Type Time Docket Invoice Import Message

Cover Letter

Hearings, Consultations, Disbursements Attachments

Attachment EB-2024-0111 Docket.pdf	Document Type Time Docket	Claim Type Import Message Hearings
2025-06-13 BLG Inv 698550629 EB02024-0111.pdf	Invoice	Hearings
2025-06-13 Letter to OEB - EB-2024-0111.pdf	Cover Letter	Hearings

Date	TKPR Name Client M	latter	Hours Tobill Amt	Narrative	
5/1/2024	Pollock, Scott 339583	299	6.5 \$1,644.50	Reviewing application and evidence for phase 2, EB-2024-0111.	1A
5/2/2024	Pollock, Scott 339583	299	2.4 \$607.20	Reviewing application and evidence as well as issues list.	1A
5/6/2024	Pollock, Scott 339583	299	1.6 \$404.80	Reviewing application and evidence.	1A
5/7/2024	Pollock, Scott 339583	299	3 \$759.00	Reviewing issues list; reviewing EGI's submissions re issues list; reviewing HRAI intervenor materials; reviewing Phase 2 evidence and application.	1A
5/8/2024	Pollock, Scott 339583	299	1.8 \$455.40	Drafting submissions re draft issues list and HRAI intervention; reviewing Enbridge Sustain information.	7A
5/8/2024	Pollock, Scott 339583	299	0.8 \$202.40	Reviewing application and evidence.	1A
5/13/2024	Pollock, Scott 339583	299	0.7 \$177.10	Reviewing other parties' submissions re issues list; finalizing issues list submissions; instructions to W. Bischoff.	7A
6/3/2024	Pollock, Scott 339583	299	3.6 \$910.80	Drafting interrogatories.	2A
6/4/2024	Pollock, Scott 339583	299	6.4 \$1,619.20	Drafting interrogatories.	2A
6/13/2024	Pollock, Scott 339583	299	0.9 \$227.70	Reviewing additional Enbridge Sustain evidence, orders in council and other evidence; drafting interrogatories.	1A
6/17/2024	Pollock, Scott 339583	299	1 \$253.00	Reviewing EGI correspondence; reviewing phase 1 interrogatories which were deferred into phase 2 questions; reviewing board letter.	2B
6/19/2024	Pollock, Scott 339583	299	0.2 \$50.60	Finalizing interrogatories; instructions to W. Bischoff re service.	2A
7/9/2024	Pollock, Scott 339583	299	1.5 \$379.50	Reviewing answers to interrogatories for phase 2 of the proceeding.	2B
7/17/2024	Pollock, Scott 339583	299	1.3 \$328.90	Developing technical conference questions and time estimate.	2C
7/22/2024	Pollock, Scott 339583	299	6.8 \$1,720.40	Attending day 1 of the technical conference.	2D
7/23/2024	Pollock, Scott 339583	299	6.5 \$1,644.50	Attending day 2 of the technical conference.	2D
7/24/2024	Pollock, Scott 339583	299	7 \$1,771.00	Preparing for and attending day 3 of the technical conference.	2D
7/25/2024	Pollock, Scott 339583	299	4.5 \$1,138.50	Attending day 4 of the technical conference.	2D
8/13/2024	Pollock, Scott 339583	299	2.1 \$531.30	Reviewing expert evidence from intervenors; drafting interrogatories.	2A
8/14/2024	Pollock, Scott 339583	299	3 \$759.00	Reviewing expert reports/evidence.	1A
8/16/2024	Pollock, Scott 339583	299	2 \$506.00	Attending motion.	10C
8/23/2024	Pollock, Scott 339583	299	1.9 \$480.70	Reviewing reports and drafting interrogatories for expert reports.	2A
9/6/2024	Pollock, Scott 339583	299	3.6 \$910.80	Reviewing application; interrogatory responses and undertaking responses; reviewing expert reports; drafting settlement conference memorandum to client; emails with client re settlement positions.	5A
9/10/2024	Pollock, Scott 339583	299	6.8 \$1,720.40	Attending day 1 of Phase 2 settlement conference.	5B
9/12/2024	Pollock, Scott 339583	299	3.8 \$961.40	Attending settlement conference - EGI Phase 2, day 3.	5B
9/11/2024	Pollock, Scott 339583	299	6.5 \$1,644.50	Attending day 2 settlement conference EGI phase 2 proceeding.	5B
9/11/2024	Pollock, Scott 339583	299	0.3 \$75.90	Reviewing evidence for discussion with L. Gluck and intervenors re settlement position.	5A
9/13/2024	Pollock, Scott 339583	299	3 \$759.00	Attending day 3 of the settlement conference for phase 2.	5B
9/18/2024	Pollock, Scott 339583	299	6 \$1,518.00	Attending phase 2 settlement conference discussions.	5B
9/17/2024	Pollock, Scott 339583	299	1 \$253.00	Attending additional discussions with parties re settlement.	5B
9/19/2024	Pollock, Scott 339583	299	3.6 \$910.80	Continuing with settlement discussions.	5B
9/20/2024	Pollock, Scott 339583	299	5.5 \$1,391.50	Settlement negotiations.	5B
10/7/2024	Pollock, Scott 339583	299	6.5 \$1,644.50	Attending settlement conference.	5B
10/9/2024	Pollock, Scott 339583	299	3.5 \$885.50	Attending settlement conference.	5B
10/8/2024	Pollock, Scott 339583	299	3 \$759.00	Attending at settlement conference.	5B
10/22/2024	Pollock, Scott 339583	299	1.2 \$303.60	Reviewing settlement agreement draft; email to client with settlement agreement draft for client signoff.	5C
11/18/2024	Pollock, Scott 339583	299	4 \$1,012.00	Attending ED motion and settlement proposal presentation.	10C
11/21/2024	Pollock, Scott 339583	299	0.2 \$50.60	Reviewing phase 3 undertaking from EGI; email to parties.	10C
11/19/2024	Pollock, Scott 339583	299	2.2 \$556.60	Reviewing updated evidence exhibit for unsettled issues; reviewing Environmental Defence evidence.	1A
12/9/2024	Pollock, Scott 339583	299	0.1 \$25.30	Email to K. Viraney re cross-examination estimates.	6A
12/13/2024	Pollock, Scott 339583	299	1 \$253.00	Reviewing additional evidence provided by Environmental Defence.	1A
12/18/2024	Pollock, Scott 339583	299	7 \$1,771.00	Attending and participating in day 2 of the oral hearing.	6B
12/17/2024	Pollock, Scott 339583	299	6.5 \$1,644.50	Attending day 1 of the oral hearing.	6B
12/19/2024	Pollock, Scott 339583	299	5.5 \$1,391.50	Attending day 3 of the oral hearing.	6B
1/17/2025	Pollock, Scott 339583	299	6.6 \$1,669.80	Call with client; drafting final submissions.	7A
1/15/2025	Pollock, Scott 339583	299	1.1 \$278.30	Reviewing oral hearing transcripts for final submissions and client positioning.	7A
1/16/2025	Pollock, Scott 339583	299	1.5 \$379.50	Reviewing record and drafting email to client re positions on unsettled issues.	7A
1/20/2025	Pollock, Scott 339583	299	2.5 \$632.50	Drafting and revising final submissions.	7A
2/5/2025	Pollock, Scott 339583	299	1.4 \$354.20	Reviewing ED and GEC argument in chief; drafting and revising CME submissions.	7A
2/7/2025	Pollock, Scott 339583	299	1.4 \$354.20	Drafting and revising final submissions.	7A
2/10/2025	Pollock, Scott 339583	299	1.8 \$455.40	Reviewing ED argument; drafting final submissions.	7A
2/11/2025	Pollock, Scott 339583	299	0.5 \$126.50	Reviewing EGI argument and revising final submissions.	7A
2/12/2025	Pollock, Scott 339583	299	0.8 \$202.40	Finalizing submissions for phase 2.	7A
2/18/2025	Pollock, Scott 339583	299	0.9 \$227.70	Finalizing submissions; instructions to W. Bischoff re filing.	7A
5/29/2025	Pollock, Scott 339583	299	0.4 \$101.20	Reviewing OEB decision; drafting and sending summary email to client.	12A

SCOTT POLLOCK T 613.787.3541 spollock@blg.com
 Borden
 Ladner Gervais
 LLP

 World
 Exchange
 Plaza

 100
 Queen
 St, Suite
 1300

 Ottawa, ON, Canada
 K1P
 1J9
 T
 613.237.5160

 F
 613.230.8842
 blg.com
 F
 613.230.8842



By electronic filing

June 13, 2025

Ritchie Murray Acting Registrar Ontario Energy Board 2300 Yonge Street, 27th floor Toronto, ON M4P 1E4

Dear Mr. Murray

Re: Enbridge Gas Inc. ("EGI") EGI 2024 Rebasing Application – Phase 2 – EB-2024-0111 Cost Claim

As you know, we are counsel to Canadian Manufacturers & Exporters ("**CME**"). Please find attached CME's cost claim in the above-noted matter for \$47,229.03.

We note that the Board's online filing portal rounded the HST on Borden Ladner Gervais LLP's ("**BLG**") fees to the nearest 5 cents, for a total HST amount of \$5,433.45 and a total cost claim of \$47,229.05. However, BLG's internal accounting software rounds to the nearest cent, for a total of \$5,433.43. Accordingly, there is a \$0.02 discrepancy in the totals. To the extent that the Board determines that it is appropriate for CME to receive a full cost award, we ask to be awarded the lower amount of \$47,229.03 as set out in the Invoice attached with CME's cost claim.

Yours very truly,

Borden Ladner Gervais LLP

SA Pul

Scott Pollock SP/wb